ol
RS
o|J
ofig
Nfo

oln

@ 02 BE AA50] ofo]tt,

7

® &47} ot

wolc},

A

@) 259 ot 13 271 2

=
71 A=

A 1 3 7] 2}

A%

=
L

1 Bt
L ol




2. 499 AQ14=9] 7|9} 120 9] AQ14=9] F|4=0] FHe?

D 17 @ 270 @ 371 @)47M ® 574

49="72120=23x3x5 o|B&
499] 214217 1209 £Q04=2 3,5
n1+3=4




® 5

@ 3

o|EZ 1, 3, 5, 15 ©|t}.




— 2 T L Aelel e BE A5 g FoE?

D1 @ 2 7\ @ 37 @ 4 7Y

®)5 7

19 5 7 1
920, L9 onam
7 7 ol g =23l

~ 2 o 1 Aole] g ek

-2,-1,0,1,29 5 7}




3x+5y—2(2x-3y) & AXINE

® -6 @ -2 ®

3x+ 5y —4x + 6y = —x + 11y

x 2y o AF9] 9 2 (-

1)+11 =10




6. 100 ol5te] A% Fol Al 63} o] Fujso] AT

@ 371 @ 470 @5711 @ 671 ® 871

6 79 o] A FHISE 2x32 = 18,
wtakA] 100 olstelA 18 o] Hi4 574




o S Al 72 a,b, ¢ o tiste] E9 A2?

® ax(b-c)=axb-axc @ (axb)xc=ax(bxc)
@a—b:b—a @ axb=bxa

® a+b=b+a

@a-b+b-a







9.

11x — 20y oA oJ® A& F H widHy -3x - 4y 7} Atk

ol 40 x 9}y o] A% G Fatolet,
=

> g 1

B

oju,

ot 4 [ e ope
11x-20y-2[  |=-3x-4y°|ch

o[ ]|=14x-16y, D =7x-8y o[t}
x O AF T,y AL -8
whehA] A5=o] 2 7+ (-8) = -1 o[tk




10. o] x o thet YAFA oA 4x—3 & wjofof sh=d, Fxste] HFE Y]
11x+5 7} H Itk 25 AlollA 4x - 3 2 o] A AL 4127

@ x-7 @ x-17 @ 3x-2

@)3x+ 11 ® 3x+5

x of thet d=HAS A 2f st
ARE AN A+ (4x-3) =11x+5

L A=Tx+8
28 AAL (Tx+8)— (4x—3) =3x+11




11. 23x3°x5 9F 23 x 31 x52x 7 Q] Fo4 Fo|A] o' zFA4=2] A Fo]
He Ao e d siQlA] FLotedat,

> £ M

Zol2l 5 0] hBopAl 29 x 3t x5 o BE
o] 49| ok & A Fo] He 48 Fe

12, 22, 32, 34, 22x 32, 22 x 34 B% 6 o]t}




S 45 % 71 2 2L -1 0l
@) a9arol 12 9 SE 12 0l
® o] FHE AR AT &
@0l 44 e %

o

o 4Rt A,
J5E 11 ol

® 28} +29] Atololl 3 ] B4 Glek.

@ AYizko] 12 ¢l =

ol == +12 ¢} —12 o[t}
@ 0 9 7V 7pke AL

J4= +1 7 -1 o[t}




13.

T+ fr2l4 a, b ol Hisko]
anb = (A §11A a oA S5t 0 = SRE7E b 7HA] 7he
712)

1 ]
2 gog . 2o (—1al) o gg Fporen
> =
17
pol=s -
> 8
13 1.3 3
48 4 8 8
35 3 5 17
A — — — —_ —__ 0
225=3tz =3 °I*




n 1 12
a = —
1
b+ 22
1
“Tu
> =
> =
» E.
» E
> ®E: =5
> "E ! b=
> HE =2
> Hea=7
125 15
b “olm2 4—50
9 5 59 ] a=>5 o]tk
1 15 1 7
- 2 bt — =14 — ok
o1 50 b+ T +15°1H
41 d
cTu
b=1o°|t}.
1 7 1
= —, —:2 — S
C+l 5 c+d +7°ﬂ'1
d
c=2,d="T0°]|th
La=5b=1,c=2,d=7




15.

thg 2o
59 e
0] g Fotelet,

el WREM1”%W@W“5

ol =
A;I\L'—’_

o




